

$$1.918 = \frac{L \cdot g1}{1.918} = \frac{L \cdot g1 + L \cdot g2}{1.918} = \frac{L \cdot g1}{1.918} = \frac{L}{1.918} = \frac{L}{1.918} = \frac{10}{19}$$

$$\frac{1 \cdot 9^V}{1 \cdot 9^4} = 9^1 \quad \frac{1 \cdot 9^2}{1 \cdot 9^0} = 9^2$$

$$\log_{10}^y = \frac{\log^y}{\log 10} = \frac{\log^2 + \log^2}{\log^2 + \log^2} = \frac{\cancel{\log^2} \log^2}{\cancel{\log^2} \log^2} = \frac{1^2}{1^2} \times \frac{1^2}{1^2} = \frac{1^2}{1^2}$$

$$\frac{\log 2}{\log 3} = 1,4$$

$$\frac{1}{14} L_y^2 = L_y^2$$

$$\frac{L_{\text{gy}} \Delta}{L_{\text{gy}} r} = \frac{1 \Delta}{1.}$$

$$L_{xy} \partial = 1, \partial L_{xy}$$

$$\log_{\lambda} 1_{\lambda} = m \quad \log_{\xi} 1_{\xi} = \frac{1}{2} L \cdot g_{\lambda}^{\lambda} = \frac{1}{2} L \cdot g_{\lambda}^{\lambda} = \frac{m_{\lambda}^{\lambda}}{\xi}$$

$$1 - g_{\mu\nu} = m$$

$$r^m = r \cdot r^{m-1} \Rightarrow r^{\frac{m-1}{2}} = r^{\frac{m-1}{2}}$$

$$(f)^{2n+1} = \left(\frac{1 \leq \Delta}{\Delta}\right)^{2n+1}$$

$$\log_{(92+1)} \wedge$$

$$\left(\frac{x}{1.}\right)^{2_{1-1}} = \left(\frac{\cancel{1.} \cancel{0}}{\cancel{9} \cancel{8}}\right)^{2_2} \Rightarrow \left(\frac{x}{1.}\right)^{2_{2-1}} = \left(\frac{x}{1.}\right)^{-2_2} = \left(\frac{1.}{x}\right)^{2_2}$$

$$r_{2-1} = -r_2^2$$

$$r_2^2 + (r_2 - 1) = 0$$

$x \rightarrow \frac{1}{x}$

$$1.9^{\frac{1}{2}+1} = 1.9^{\frac{3}{2}} = \sqrt[2]{1.9^3}$$

$$\begin{aligned}
 \log_2 3 &= a & \log_2 b &= \frac{1}{2}(\log_2 3) & \log_2 (1+a) &= b & \log_2 \frac{1}{1} &= \boxed{2} \\
 \log_2 (2b-1) & & \log_2 3 &= b & & & & \\
 2b-1 &= 2, 2^2 = 4 & \log_2 1 &= 0 & \Rightarrow & b = \frac{1}{2} \times \frac{1}{2} = \frac{1}{4} & & \\
 & & & & & & & \log_2 9 = 2^2
 \end{aligned}$$

$$-\xi a^2 + b a + \frac{1}{2} c = 0 \quad -10$$

$$S_E = \frac{b}{-\xi a} \Rightarrow \frac{-\xi a}{b} = \log_2 \xi \quad b = \frac{\log_2 \xi}{-\xi a} \Rightarrow a = \frac{b \log_2 \xi}{\xi}$$

$$\left(\frac{1}{\sqrt{2}}\right)^{\frac{c}{a}} = \left(2^{-\frac{1}{2}}\right)^{\frac{b(\log_2 2-1)}{b \log_2 2}} =$$

$$\left(2^{-\frac{1}{2}}\right)^{\frac{1(\log_2 2-1)}{\log_2 2}} = 2^{\frac{-(\log_2 2-1)}{\log_2 2}} =$$

$$\begin{aligned}
 \frac{1 - \log_2 2}{\log_2 2} &= \frac{\log_2 2 - 1}{\log_2 2} = \log_2 2 = 1 \\
 \log_2 2 &= 1
 \end{aligned}$$

$$\begin{aligned}
 \log_2 2 &= 1 \\
 \log_2 2 &= 1 \\
 \log_2 2 &= 1
 \end{aligned}$$